Prove or disprove that:

1. A-BCA-C-B

2. (A-B)UB-C)U(C-A) =(AuBUC)—(ANnBNC(C)
Solution:

1. Answer: That is wrong.
Let A be {1,2,3}, B={1}, C={2}. A-B={2,3}, A-C-B={3}. {2,3} £ {3}.

2. Answer: That is true.
Let’s denote Ay = A-B-C,By=B—-A-C,C;y =C—-A—-B, AB=ANnB-C,
AC=ANC—-B,BC=BNC—-A, ABC=AnBnC.
A-B=A4UAC,B-C=BUAB,A—C=A,UBC = (A-B)U(B-C)U(C-A) =
ATUACUB{UABU A, UBC.
(AUBUC)—(ANnBNC)=A,UB,UC; UABUBCU AC.
Thus (A—B)U(B-C)U(C—-A)=(AUBUC)—-(ANnBNC)

1
Answer provided by https://www.AssignmentExpert.com



